23cm

9cm

9cm YYth

=90
=

521w

] 7]

o)
=

w4




i)
oo
ol
s

® ©
00| CTUT| W=
BB

oo | vrut| b

o] 15t} 2he

Yirol A 57} b
et el A 4
.o 1m0 A

L
3
7

o] 1}

Suth Ao m ol 11t
H




3.

ofel mOpS H ] RO R thiro] o2l & uf, ¥ 7ho] Fol
2L o 197

aey
g9
o @ ® @

5
7

©
i
%0
mjo

By




4. THE F Fol WrolXk SR AL BE 12AQ,

D 2.8+56 4.6 0.4 3)0.1+0.9

@ 7.6+12.45 ® 8.1+1.08

%ol rolAle itk & AL e 47H 1 Bt 22 4
AY Tt

et @ 4.6 + 049 @ 0.1 + 0.9 5°] YrolAE sHt
Yo




& A4 7k e A2 BRI 99 Wolo] ta 0 ¥
7

u1E b 2R Aase] )2 ekl 2L ol AU

4em
@b
Q) ©
@L— L .
“9cm-’ ~1lem-”
@ 9:11 @ 45:75 ® 9:15

Eolg [ tx shd,

@9 dol: 9x[ ]+2

©9 Hel: (4+11)x[_]+2

[ kert ooz yeksiu

W o] Zol2 BHE A9 FU

@] Hol] that O] Hel=15: 9
7 7hks] W12 R, 5 3yt




